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4) Among' is a preposition that is used when - people in involved.

1
v 2
3
4

four only

more than two

two or more than two
two

~— N N S

14 : Among" preposition b IR0 2 T4d @Il [Fro 7' Afsd I, o1 31 38
TGO AP | SFOA1R X8I more than two I |

"Among" is a versatile preposition that is commonly used in various contexts
to indicate inclusion, distribution, or relationship within a group or category.
Here are some of the most common uses of "among":

Inclusion: "Among" is used to indicate that someone or something is part of a
larger group or category.

"She was among the finalists for the award."

"Among my friends, John is the most talented musician."

"The book is widely regarded as a classic among science fiction fans."
Distribution: "Among" is used to express the distribution or dispersion of
people or things within a group.

"The money was divided among the three siblings."

"The cookies were shared among the children at the party."

"The resources are distributed among the various departments."
Relationship: "Among" is used to describe the interaction or relationship
between individuals within a group.

"There was a sense of camaraderie among the team members."

"A spirit of unity prevailed among the protesters."

"There is a growing divide among the political parties."

Comparison: "Among" is used to compare or evaluate a group of people or
things.

"She stands out among her peers due to her exceptional talent."

"Among the available options, this one seems to be the most cost-effective."
“The restaurant is ranked among the top ten in the city."

Choice: "Among" is used to indicate a selection or choice from a group.

"He had to choose among the different job offers he received."



"Among the available flavors, | prefer chocolate.”
"We need to decide among ourselves who will take on this responsibility."”

5) Choose the correct indirect speech: She asked me, “Are you happy in your
new job?”

v 1) She asked me if | was happy in my new job
2) she asked me if | have been happy in my new job
3) she asked me if | had been happy in my new job
4) she asked me whether | am happy in my new job

AN : Interrogative sentence @9 Reported speech I Auxiliary verb-- do,
does,did,shall,will,am,is,are,was,were,can,may 3o/ a1 RS 2,5 reported
speech W< OsT that a1 IR if/whether I5CO 27 W3 sentence 0 Assertive
sentence 9 ANBRO A |

6) Which of the following sentence is correct?

1) He was hung for murder
v 2) He was hanged for murder
3) He was hunged for murder
4) He had been hung for murder

AT : DI 071 S - Hang @9 past and past participle form T2 hanged . @)
QT OXY - Hang @< past and past participle 2% hung.
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28) Choose the correct spelling;
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Accelerate
Accelerrate
Accilarate
Accilerate
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29) | prefer tea coffee:

1) than
2) from
v 3) to
4) for
AT = 20 R Ty QBio Afddod #/g™ 341 G791 ¢Fca Prefer + Noun/ Pronoun +

to + Noun/ Pronoun - Structure T Siq51o 2 | IT FOK coffee T tea @RXT 912 |

30) Which one is the singular of leaves?

1
v 2
3
4

) Leafe

) leaf

) leav

) leave

AT : Noun I3 OF “f * 1 “fe’ AR plural IR 1 ‘f * 1 “fe’ T T P 31 “Ves'’
IACO | AT : calf —» calves, wolf - wolves, loof = loaves, leaf — leaves.

31) The meaning of the word precedence is,

1) event that never happened
2) tenure of the President

3) a matter to deal with
v 4) a case of reference

A : Among the options provided, the correct meaning of the word
"precedence" is D) a case of reference.

Precedence refers to the act or condition of going before or ahead of
someone or something in time, order, rank, importance, or authority. It often
implies that a particular person, thing, or action takes priority or comes
before others. In this context, a "case of reference" signifies a situation
where something is used as an example or guide for future actions or
decisions.

Options A, B, and C are not accurate definitions of the word "precedence."
Option A suggests that precedence refers to an event that never happened,
which is incorrect. Option B associates it with the tenure of the President,
which is unrelated to the term's meaning. Option C suggests that it signifies
"a matter to deal with," which is not an accurate definition of the word.



Therefore, the correct answer is D) a case of reference because it accurately
describes the concept of precedence.

32) Which pair of words is dissimilar?

1) round, around

)
v 2) preserve, prevent
3) fire, flame
4) bag, sack

TN : Fire - Od, flame - QAR bag - A, sack - IBTI1 AW ; round - PRFAE
around - PR | Preserve - SIIFI I ; prevent — JidT C13T1/ARSETH |

33) Which one is correct?

1) You, he | am present

2) He, You and | am present
3) I, you and he | am present
v 4) You, he and | are present

@ (F¥ 9] pronoun <7 sequence 0 Z(F 2md +3rd +
amam ;1% (231) G392 (A FHE 4 oG JATE 15+ 2nd+
3rd | TWIRFE F: I, you, and he are guilty.

34) He prefers European country for spending his vacation.
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4) none

T : TT word U< SFCo TN vowel AF U7 Ok THIRT IM 38’ AT 31’ T 27 O

article 2% a 3671 European 93 #(F an d1 301 a I PRI A4YF vowel 7 SHRT G
(u) QI FCaT|

35) The word 'Everything' is

1) an adverb
v 2) a pronoun

3) a noun

4) an adjective



A Everyone, everybody, everything and everywhere are indefinite
pronouns.

Indefinite pronouns are pronouns that do not refer to a specific person, thing,
or amount. They are used to refer to nonspecific or unknown entities.
Indefinite pronouns often function as subjects, objects, or complements in a
sentence.

Examples of indefinite pronouns include:

"Someone" - e.g., Someone called for you.
"Everybody" - e.qg., Everybody is welcome to join.
"Anything" - e.qg., Is there anything | can help you with?
"Nobody" - e.g., Nobody knows the answer.

"Many" - e.g., Many have expressed their concerns.

36) We were watching the news when the telephone ......

v 1) rang

2) rung

3) ringing
4) had rung

MY : When 711 I 50 clause-a3 a3 past continuous tense I WoRM past
indefinite tense A|

37) Prior to' means-

1) Before

2) Collective

3) Common
v 4) Abstract

14T : Prior to f0 prepositional phrase. T before (W5, #() -1 AP 2T |
Immediately - OISR ; after - A |

38) The roads of Dhaka are wider_

1) then Sylhets

v 2) Than Sylhet
3) Then those of sylhet
4) than those of sylhet



AT : A1 “The roads of Dhaka” 93 Y “the roads of Sylhet” A3 T 3T TACE,
O3 than 36Tz | SRS JTIS ‘the conjuction’ 53 RIS Noun (the roads) W<
RS ‘those’ pronoun T IRER FT AR |

39) The correct of the word 'deliberate is__

1) willingly
2) known

v 3) intentional
4) familiar

AN : Deliberate - 32Po/REMG ;, W FAAT intentional - 329G ; familiar -
RIS, WEH, o670 ; willingly - (SESE, 3RPESIE ; known - R6G, Tre, S,
fifro, Tifdste, Tfdw, 4, afoero| Deliberate, intentional &1 adjective TR
willingly 2= adverb.

40) It is 11 am now. The sun in the eastern sky.

1
2
3
v 4

has been shining
had been shining
shines

is shining

N— N N N

T : I1PY Now AP @R T2 sentence T Present Continuous Tense XA |
Structure: Subject + am/is/are + verb (base form) + -ing + [complement]

41) Correct passive form of | have to do it,

vl
2
3
4

It has to be done by me.
It is to be done by me
Let it be done by me.

It has to be done to me

N— N N N

TN : subject + have to/ has to + verb + object T I passive IR fawd 2 .
object (@ subject + have to/ has to + be + verb -4d Past participle + by +
subject @ object.

42) What type of noun the word 'Infancy' is ?

1) Material
2) Collewctive
3) Common

v 4) Abstract
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43) The sentence 'Empty vesserls sound much ' refers to _

1) A little learning is a dangerous thing
2) Pride goes before destruction

3) Haste makes waste
v 4) Barking dog seldom bites

N : ‘Empty Vassals Sound much’ 2D WY OISIER 9 516 5], Wfb A barking
dog seldom bites TR TG 51T BB I a1 2RMILE 0T PE | Pride goes before
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44) §REYC @A GIF @< (@ PECST 7R 5130 Xq%eT?

AN : FREYCa 77 I G0 @ G 267 | 93 G (Il (91 PATOTR & a1 | 241
TS (SR oS ST \3TFTAl 13 (T3 SRIAK ARBTAAT PICod | dHad AT D¢ 5T
50 T CGREA [(PICTTR KT ARBITS YT WG DA Syres’ “ifkipTfere 23|

45) TIPT 2 1R ATSHTA! FI91d Pd-

ITAT 2 HYVY0 S TFITH 3FTH AT 56! TIRIE AU IR ITSHTACS ARG PR Q7L I
qr (id QRPN J59 |

46) ISR AU JGIRT Sl RS ARSI (P?

1) \SATHRAAT ArGaId
v 2) fermo segEm



3) AT Q3
4) TG yeTord!

T : TP S MR AYH KT AR 2052 HER S (& XK SFPTe .00 A
TSI X T IRCZA | \STSRPAT ORI ST AL 92, T AT ardt st
2053 HICER W (F RO B <P ASIRCT FORI AR IR | Q3R YT IR 20w
‘Seven Summit’ S I |

47) FRETE SR Ty @ QR 77

AT : AIRETTOT S T (IO IR | TR (ORI FRECTaTSIT LAd- S IS 73
TR CT, VI3 A<D Fi31 WK O, BICT T3S e SR, 3féid v wifoRewme waet
wfad, f57onf3 e S1are, P16 (@1, 7o 12819 17 533 camram 21 32814 |

48) faR draSfeR 7 Fioya ‘TR 26 ¢ (AORATE JId) el @?

AT : FEYr SFIS TRAIA Ty G380 A FRGCqraT T TR 2GR (DR SRS 2 | O]
A IICHA ©. (TORT @51 Q7L TRTET [ | GFoRT @579 2 92 GRE 13 ORTEd [l O a’
(13 T IEA|

49) 575 IRFATTTHR T TFITA(D SO TT 3GTAFT 512 F o) HOXR Orferers 31
(oCACZA?

AT - JIRATTT HIPIES ﬂ"\’%l?‘) FIMART AERAPTH 059 A V0 dCORK AT “ToeT
CTOTAT TIfORY BT 26T R FAKOR WK1 5125 o Moz OIferert 31d & re 3@ |




50) GPTAT ISR AT Id GA#TR AT Jq?

v 1

N

3) (TG

)
) 19
)
4) AT

AT : OROR ST AT XTHATHS N HTSY | IR ATH T SR AT (5T, I,
g, 2R, STHOD, ICH, OIFEAT, FETAIY, BB 1T, TR A6, INSTT, RIS 2G5 |

51) 2THId AR YT T a7 T B1?

v 1) Amen
2)%@%@1@5@@
)
)

3) TIFWId ARIKD
4) T 9

I : @1 @1 IR Q Jo fofd woo - wae REBTER Ty ey IEd | fofd IR [ifed
U ATSY (P QPA IR (TG I S 5108 (O1d |

52) eI IreTal IeTl 2 foE- QpTd XTI 2

A : B3P F I W Big Apple (RCIa IrewTal) | QTa- 301eR IIGHTA!, TG d- 3RS
ATSHTAT, (B1RP\3- SR ATSHTA! QR \STTRIRT fGT3- SCHRPIR IrsE1al |

53) TIRON LI TEHE] T (PTAD?

AT : AOEFS RO 758 HAI0R GRR [ATere OB S0P ST | T [y @OFR
HRRARD T8 @GP | ff Sbvo S » EPAR AR 20| W7 2SI @R Bars | I”

K RF (O], SRORG |




54) GITeTP 21 @TTL?

1) ATy
v 2) @

3) Foroe

4) T

AT : (T 5] ol R <1 e 31 R 30 @ om1d I56re Ody (@1 (e NS IRl O
TP M1 I | (T . (3T, PIATRT, NG, IOFH | IroTs — o om12l , foroe] — Ore +
73T, MM - XTSI + WHCSH |

55) IMG WFPIH HATPAT I S Prold TP [l a2

1)
ARIGEIRERINIE]

) RGP < L
4) ST 5

G A

v

wW

A : IMER ARTOR R D,00,000 Hz Q3 IMG A0S ATS 2T | O AL AP XTR
OO ARGTAE FNRICT] 5T ICH |

56) pP 2K WRPE 2 dl-

AT = TR 2MIAF FIT WY P Q3L TR FI ATRIS AT I, BICR BT 91 I |
TR AP P WP I a1 Q3R R FIE ARTS IR IR dl, S DHTID 21 I |
THIA . 31O, (N1, fPs, (PRI 17 2R 3 4193 THTIP “H1Y|

57) Adult Cell @19 3@ @ (OUK G¥ (2 0K drd (3T AA(R.?

1) 5

N

)

) el
3) Al
v 4) Gy

AT 2 YWY A WGTT G @Td IR TRAYT TFACOII AP [Res1ar 130 (GOR T ¢ |
ft< arg o 2 T | Y8 PR, 2000 WK ABIHT @05 WF B 2T Gt IK7 T |




58) PTAT G TG GIGH APP?

v 1) GIRI
AGRISIED
3) RIS
NRRISIEY

8 f4b (Bit) 1 9125 (Byte)
210 135 41 1024 120 | | feteTr=i2b (KB)
220 20 4T 1024 fHAEIRG | 1 (IR0 (MB)
T aoaas 1 1024 (25| 1 P35 (GB)
2494135 41 1024 /4125 1 (594120 (TB)
2599135 41 1024 (GAEIRD 1 79{BT=120 (PB)

59) AABC 43 LA = 45° X LB = 30° £C 93 914 3G G572
v 1) 105°

2) 110°

3) 90°

4) 100°

S, £C = 180° — (ZA + £B)
= 180° — (45° + 30°)

ROT :
= 180° —75°
= 105°
60) SR TG HLAT (@IA?
1) ®/>00
2) ®/>000
3) 0.005%
v 4)0.500
® >
= 0.00p; 0.008®; 0.000; __= 0.0p 99
Y000 200

Ry : WHT 0.500 qG| FiE WHNE 2Ta WA B
GFAG 0.500 &3 S AR, FEATS 0| @iz b
o Tea



61) QI FIK RrFIVCH YT 2900 FICHL GV P AT | AT PPFIT SR 6 FrF1T-
TR F5aST AT 5ICEAT o I T PFPF1AT HLJT 3672

4fa, P10 F4reiia A4l = x &
", ATOIE HRED AT = Ox
"T\_gﬂt@, UX X X =900
AT ;= X = 900
= X =500
S X =00

TorwriE A7 wo & |

62) QI (O @F GRS (GILRTR Yo% (SIb (I VFSd 213 fa-Tho 2czd | fofd aFama
AR573! TPFT A@00 (BTb @R (NACZA | (I @CE PO T (IR SRS Bef?

1)
v 2)04qeoo
3) 8000
4) T3 T

4ifoe &€ (ATaTE Yo%
-, oRIEre &rdr (oATE 80%

e 2T @ (T = (Yo — 80)%
= 0%

3¢000

s

R (A0S
WA 30% = €00 (OB

o, _ 4aeoo
Y% = 0 <5

Qoo YOO
S Y00% = Q; C\Tﬂ%

= \9q¢00 (O




63) TE TR 80 Td RIGAd 0o Mia] YRR Wz | ¢ d 917 TWR\S Yo Td T AT O[<E
YT IR PO Md 5 ?

¢ M= 7/, Yo T« g9 B@ WA (W6 B@ A =

(80 + >0) =¢o &H

80 T BIT@F &+ A€ 9T (9o — ¢) W= ¢ g
s S O BIEd G 2AEIE St ¢ X 80 e

2 x 80
pos =

= Yo M4

. 0 T ZITEE T ARIE AR

64) 20 b T QPIL I AFTSIR @ 7' @I5T IR AT A (I AT TG TR 72 DO~
3, (&b TR S 3O b ?

4fd, (=I5 T = x, O TG WA (0 —x)
"ﬁjﬂﬁ,x=%(b\o—x)
T2 ox =80 — 3x
= €x =80
LX=b

65) 2,3 \3 51 U7 @O TGO QA : € : 0.4,57 QT 32 TP AR (9, F-99 @0 P92



T : 4,

I I @Od = ax

Y Q3 @Od = &X

5T Q3 @Od = VX

2RI,

&X -7OX = R

SRX = R

SOX =009

WOUI, F Q7 @O = (Ax5DY) TIRAI
=994 BT

66) (T ST 80% A HAICY 8¢ (15T PICH QST I P SR 2, OIS SR F07?

1) u8
v 2)ace
3) a0
4) b¢
. B0
HTO x T, x 99 —— + 8¢ =X
Yoo
80x g
:x——)oo = 8¢
)oox—Sox_8
I : = —boo =8¢
Yox "
= Soo @
8¢ X 300
=X =
[°To)
S X =9

67) QIS fFPOIER Y0 AW ANAK TG 8¢.¢ | 5D OF B I 19 I ANGE A 57
B fafei ORIk 5T ¢o 1|

1) 0
v 2)»¢
3) abv
4) DY

24T Yo ZfTHA (NG a9 = (8¢.¢ X d0) = 8¢¢ I
WA SO BN 9/ (WG A9 ZE = (CoX 3D) = ¢¢o A
L3O WTHAG A = (€Go — 8CEC) = ¢ A |



68) 4x* + 1 & BT REITT I @16 2Msa I ?

1
2x%24+2x-1)
2x242x+1
2x%24+2x-1)(2x2-2x-1)

N

) (
) (
v 3)(
4) (
ax*+ 1= (2x)? +22x%. 1+ (1) —4x?
R = (2x2 + 1)? — (2x)?
=2x* +2x+ 1)2x —2x + 1)

69) FPIN TGS A1 FRAH FEAT IR IAFCH 0 \3 8 G1.fH 2T 7 TWRTHSH T 6 7?

(Sfog®)” = (©)% + (8)* =5+ dy=23¢

- Sfoge = ¢

O

AN fagrem qRetaE SHTe-

R C R P RS DT

9 8 ¢

¢ 13

q W W

b I 139

70) 23 TATGNER TP O3, ®, €, 20, b, €, 9, D, 10, O

1) 8
2) 9
v 3)>3¢
4) >y
2TE TATGLTENE NHe SHEG( ATEITE NS T |
. @005, 3%, (30), 39, R0, 33, R9, 3¢

a+y oo+

R R

T LT, Y 9 = b OF 9/ = 3¢




71) 0.0x0,00x0,000 =JFG?

1)

2) 0.0:94

3) 0.00029
v 4) 0,0000:94

0.000039

0.9 X 0.09 X 0.009
a9 9 © R4

X X =
Yo Moo Yooo  Yoooooo

= 0.0000%9

72) X = V3 - 1/x TA x3+1/x3 I3 919 397

~ V3
3,1 _ SO US|
«q x +x3—(x+x) 3.x.x(x+x)

= (V3) -3v3
=3V3-3V3=0

=X+

L R
Mo

IIT -

73) Q3D IT8 \3 QPID IAT FET QICE »¢ BIPT | FETHIVL 7T ¢ BT @ \3 3303 77 58 BT
T A PTA0 FT I3/07 R R Bfo7 T 707



0 e, 0T To7 x B
. J20E T 5 — x B
=X+ 3¢ = U(B& —x— 38)
= X+ 3¢ = (> —Xx)
AR = X+ 3¢ = S¥ — X
= X+ WX = JU— ¢
= OX = 589
=X =85
. WAL = 5 — 85 = 8Y B |

74) @1d fagrew foaft I 3G Facet B o IR .3 foafd @R «fkanT 36 e

@ fogred feat  q=e
 AfFe T Teom qiRsg feul
| @TEd LfENe (320 + 30 +

320) = Vo TEfe TE|

I

15 (25) 9 (52 ) SR STHR T x 97 TN F9?

1) 6.0
2)7.0
3) 21/2
v 4) 14.0
29X
?+3=—+10
D 5x — 2
I S PP . S
= — =17
0 6
X
=x=——",x=14
3



76) 70 K QAT SR (T P @ BRID @198’ 917 2 OIH AP0 A0 @10 Qo[
P T 27?

AT &

/X, 2y €92 La, £b P ferer| (e

77) (@19 I3 YT FIFT 9, 80 \3 b (P 95 AT IYEFH O, 8, ¢ IO YTPI?

1) 58
v 2) R
) do
) 50

3
4
R4 —9 =128
80—8 =9y
We — € = Yo
e 28, WY, @ Yo &7 FALe A T Iz
S

T -
RE =R XXX

VY =X R*x0 X0

VO =X IXOXE
cfrfmea e =3 x I x 0=
» Toiefa g7ew 14T 3

78) IR TR A ST IR -

1) St afe 2050

2) R0 (d, R0Y0

3) 3¢ Td, R00%
v 4)>8 HIb , 05



T+ SIATAK TR0 STgH TR FRF TS ABGIGD BI3PAT S8 FIG 2053 I 93 IR (JTeeT
JC | QBT S T DS G I57 5.1, <M1 T R DA BAPH (A 200 ABIIE FIZHA 13
NIESNETT LR WP A5FS 2| q TR, 2058 Fed PCA IR GRG ST
RIATCT AT 2T IR B 3¢, w03 57 6.1, Q3 Jeey O,8v4 I 5./, 911 e I | A
IRFACR TG ATR (FIG WO AR Y, S, bd0 357 5./, |

79) YobR FER SgH W3d SRFTS AT WFIRN Q0 G- A FACHAH (
Continental shelf) a1 27 fofs @U1 To-

AT 2 bR SER FGH WA TRF B PAGPT T QBT SAFAR I FACH AR
(Continental Shelf) 31 27 fofs @1 2@ F® Vo DI T3S T Wb 5./, Qag
WAARGF T 00 DT FI3e A1 V0.8 5.1 | TR ITSRARGD ST DR AP FI3H AT
¢ A

80) 1A IRFATTR SABID! T2

1) @0
) Bd

v 3) fasr
4) @I

N

AT 2 ITLATRCR S BRG \3 THRITTHIEK SES S | SRS HCY IR 3 R’
8¢V 5.4 U3 FIITTEIER Y IR a3 s 22> [,

TR IGR 2%d WK “WPF1 fd I [ifFast ace oaRsies a3 fics fofes T3 live.hellobcs.com


https://play.google.com/store/apps/details?id=com.hello_bcs.live_exam
live.hellobcs.com

